Utilities - Bug #2072

XMLUtilities.print() prints whole document rather than the passed base node
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Description

The print() method in XMLULtilities is supposed to print starting at the base of
the node that is passed in. Instead, it calls node.getOwnerDocument() and ends

up printing the from the document root as the base.

Perhaps the XMLSerializer should use the serializeNode() method and be passed

the node rather than the whole document.

History

#1 - 03/27/2013 02:19 PM - Redmine Admin

Original Bugzilla ID was 2072
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